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Find all factors and solutions of each equation. Sketch a graph and state the end behavior.
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10. f(x) = 63 —2x2 —4»
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14, f(x)=x" —4x’ +13x> =361 +36 Factor: (x - 2) Roots:
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15, f(x)=x" +9x" +23x+15 Factor; (x + 5) Roofs:

)
s =

R=T9
3=
e 1L

o* 5
. .
y

X7 8 £ (X)) ~ &g nes

’K"’ ‘9(73 - Lﬁ\:\}.gs 0

—
.-
-
—
—

»

la .
JEF P STl
MENE e

- ———— >,

C
-

EoAsREn o= _<as
E

<& L
£

SR/ A .o

i

He

"Huqﬁﬂh
=g Al

i
Ly

b |

B

"
Adal s
1
)
Bl

NExs

- I

16. When you divide P(x) = x* + 4x* —2x + k by (x - 2), the remainder is 4. What is the remainder of P(x) wh
divide by (x + 2)7
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17. Write the equation of a polynomial function that has zeros at =3 and 2 « /.
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18. Write the equation of a polynomial function that has zeros at % and +5l.
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19. The volume of a box is X + 4x2 + 4x. Explain how you know the box is not @ cube,
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